Multi Choice Exam

The Problem:

In an examination, a student scores four marks for every correct answer and loses one mark for every wrong answer.  She can choose from 5 options each time.
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A student attempts all 100 questions and scores 210 marks overall.

Find the number of questions she answered correctly.

Solution:

62 correct answers.

This can be solved by trial and improvement.

Guess the number of correct answers, work out the total score, then adapt your guess to make the total score closer to 210.

Using algebra and brackets, the problem can be solved in 3 lines, of course.

Call the number of correct answers C.

Total score 
= (4 x C) + (-1 x  (100 – C)) 
= 210



= 4C + C – 100


= 210

leading to
   



5C
= 310






and
 C
=  62
